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Question Bank

1. A point is on the x-axis. What are its y-

coordinates and z coordinates?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MNzRZTU06JzN

° Watch Video Solution

2. Name the octants in which the following
points lie (1,2,3), (4,2,3), (4,2,5), (4,2,/5),

(-4,2,-5), (-4,2,5), (-3,-1,6), (-2,-4,77).

° Watch Video Solution

3. Fill in the blanks The x-axis and the y-axis

taken together determine a plane known as...

o Watch Video Solution



https://dl.doubtnut.com/l/_MNzRZTU06JzN
https://dl.doubtnut.com/l/_0F0qqPZiTnWo
https://dl.doubtnut.com/l/_NpMXNZNamEgb

4. Fill in the blanks
The co-ordinates of point in XY plane are of

the form...

o Watch Video Solution

5. Fill in the blanks
Co-ordinate planes divide the space into..

octants

o Watch Video Solution



https://dl.doubtnut.com/l/_NpMXNZNamEgb
https://dl.doubtnut.com/l/_9OlGSIrw2gFQ
https://dl.doubtnut.com/l/_ZF5PQXMZpvoU

6. Find the distance between the point P (1,4,2)

and Q (-1,2,0).

o Watch Video Solution

7. Show that the triangle with vetices (1,2,5)

(2,5,3) and (-1,3,2) is an equilateral triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_mTniGJ8bJp5J
https://dl.doubtnut.com/l/_xNUNQQoB4jln

8. Consider the points P (xyz), O (0,0,0),
A(a,0,0), B(0,b,0) and C (0,0,c)

Using distance formula find PO

o Watch Video Solution

9. Consider the points P (xyz), O (0,0,0),
A(a,0,0), B(0,b,0) and C (0,0,c)
If P is equidistant from O,AB and C, find the co-

ordinates of P

° Watch Video Solution



https://dl.doubtnut.com/l/_GHatvi5WLmvQ
https://dl.doubtnut.com/l/_SmRCkdF9RtoS

10. Consider the points A (2,4,5), B(-1,2,6) and
C(-7’-2’8)

Find AB, BC and AC.

° Watch Video Solution

11. Consider the points A (2,4,5), B(-1,2,6) and
C(-7,-2,8)
Prove that AB,C are collinear. Also find the

ratio in which B divides AC

o Watch Video Solution



https://dl.doubtnut.com/l/_SmRCkdF9RtoS
https://dl.doubtnut.com/l/_j7vPEI4bf0my
https://dl.doubtnut.com/l/_JEEIoUzZfBlr

12. Find the distance between the following
pair of points:

(2,3,5) and (4, 3,1)

o Watch Video Solution

13. Find the distance between the following
pair of points:

(—3,7,2)and (2,4, — 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_JEEIoUzZfBlr
https://dl.doubtnut.com/l/_HUynb7qOHNbl
https://dl.doubtnut.com/l/_7S7nayUkvw3M

14. Find the distance between the following
pair of points:

(—1,3, —4)and (1, — 3,4)

o Watch Video Solution

15. Find the distance between the points

(2, —1,3)and ( — 2,1, 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_7S7nayUkvw3M
https://dl.doubtnut.com/l/_MssreY1RzlHd
https://dl.doubtnut.com/l/_3n0oeR4UiZ0B
https://dl.doubtnut.com/l/_qvO3oFvzOWgn

16. Show that the points ( — 2, 3, 5),(1, 2, 3)

and (7,0, — 1) are collinear.

o Watch Video Solution

17. Verify the following:
(0,7, —10),(1,6, —6) and (4,9, — 6) are
the

vertices of an isosceles triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_qvO3oFvzOWgn
https://dl.doubtnut.com/l/_Jwl4vCrFUbe4

18. Verify the following:
(0,7,10),( —1,6,6) and ( — 4, 9, 6) are the

vertices of a right angled triangle.

o Watch Video Solution

19. Verify the following:
(—1,2,1),(1, —2,5),(4, — 7, 8) and
(2, —3,4) are

the vertices of a parllelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_ooGw1LmipDKe
https://dl.doubtnut.com/l/_rpYngSZlW1mu

20. Find the equation of set points which are
equidistant from the points (1,2,3) and

(3,2, — 1).

° Watch Video Solution

21. Find the equation of the set of points P, the
sum of whose distances from A (4,0,0) and B

(-4,0,0) is equal to 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_rpYngSZlW1mu
https://dl.doubtnut.com/l/_irfv3RdL8z8p
https://dl.doubtnut.com/l/_iF9jNMOTV1Dh

22. Consider the points P (3,4,-5) and Q
(1,-2,3).Find the co-ordinates of the point which
divides the join of P and Q in the ratio a)l:2

internally b)3:2 externally

° Watch Video Solution

23. Consider the points P (3,4,-5) and Q
(1,-2,3).Find the ratio in which the YZ plane

divides the line joining P and Q

° Watch Video Solution



https://dl.doubtnut.com/l/_p8H2xXAVSci5
https://dl.doubtnut.com/l/_H9C68iWDklNO

24. Consider the points A (3,2,-4), B (5,4,-6) and
C (9,8,-10).Find AB, BC and AC. Hence prove that
AB,C are collinear. Also find the ratio in which

B divides AC.

o Watch Video Solution

25. Consider the points A (3,2,-4), B (5,4,-6) and
C (9,8,-10) Using section formula, prove that A,

B, C are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_H9C68iWDklNO
https://dl.doubtnut.com/l/_kPUTV69wIj7b
https://dl.doubtnut.com/l/_Q7SdYsvjTLEt

26. Suppose that A (2,6,-4), B(4,-2,3) and C (x,y,z)
are the vertices of a AABC
Find the co-ordinates of the centroid of the

triangle.

o Watch Video Solution

27.Suppose that A (2,6,-4), B(4,-2,3) and C (x,y,z)

are the vertices of a AABC


https://dl.doubtnut.com/l/_Q7SdYsvjTLEt
https://dl.doubtnut.com/l/_eOYomOxuQ1z3
https://dl.doubtnut.com/l/_izPkeNfHLb3Y

If the centroid is (7,-2,5) find the co-ordinates

of C.

° Watch Video Solution

28. Suppose that three consective vertices of a
parallelogram ABCD are
A(1,2,3),B(—1, —2, —1)andC(2, 3, 2)

Taking D(x, y, 2z), find the mid point of AC and

BD

° Watch Video Solution



https://dl.doubtnut.com/l/_izPkeNfHLb3Y
https://dl.doubtnut.com/l/_sM5OpTu97Ro4
https://dl.doubtnut.com/l/_DSuLPlcc9qLh

29. Suppose that three consecutive vertices of
a parallelogram ABCD are A (1,2,3), B(-1,-2,-1)

and C(2,3,2).Find the co-ordinates of D

° Watch Video Solution

30. Find the coordinate of the point which
divides the line segment joining the points
(—2,3,5) and (1, — 4, 6) internally in the

ratio of 2: 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_DSuLPlcc9qLh
https://dl.doubtnut.com/l/_nBzmdT8Pj0UG

31. Find the co-ordinate of the point which
divides the line segment joining the points

(-2,3,5) and (1,-4,6) in the ratio 2:3 externally.

o Watch Video Solution

32. Given that P (3,2,-4), Q(5,4,-6) and R(9,8,-10)
are collinear. Find the ratio in which Q divides

PR.

o Watch Video Solution



https://dl.doubtnut.com/l/_e4fUFedaLHP4
https://dl.doubtnut.com/l/_CVyQEsGMDoFv
https://dl.doubtnut.com/l/_46JyvHS2w9LU

33. Find the ratio in which the YZ-plane divides

the line segment formed by joining the points

(—2,4,7)and (3, — 5, 8).

o Watch Video Solution

34. Using section formula, show that the
1
points A (2,-3,4), B(-1,2,1) and C (0,5,2) are

collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_46JyvHS2w9LU
https://dl.doubtnut.com/l/_DSMV2QxYxDuJ
https://dl.doubtnut.com/l/_dh1emrgVmNvy

35. Find the coordinates of the points which
trisect the line segment joining the points

P(4,2, — 6) and Q(10, — 16, 6).

o Watch Video Solution

36. Find the distance between the points

(x,-2,-3) and (3,1,-9)

° Watch Video Solution



https://dl.doubtnut.com/l/_dh1emrgVmNvy
https://dl.doubtnut.com/l/_2Pf7LPKaf9af

37. If the distance between the points (x,-2,-3)

and (3,1,-9) is 7 units, find the values of x

° Watch Video Solution

38. Consider the points A (1,2,3), B(2,3,1) and

C(3,1,2).Find AB,BC and CA

o Watch Video Solution



https://dl.doubtnut.com/l/_ZArCSQK7pDFZ
https://dl.doubtnut.com/l/_dAmIybWIdkp2

39. Consider the points A (1,2,3), B(2,3,1) and
C(3,1,2)

Prove that AABC is equilateral

o Watch Video Solution

40. Let A (04,1), B(2,3,-1) and C(4,5,0) be the

vertices of a AABC. Find AB,BC and AC

° Watch Video Solution



https://dl.doubtnut.com/l/_zzHYXREWq8YK
https://dl.doubtnut.com/l/_0qO6VRVXRv9c

41. Let A (04,1), B(2,3,-1) and C(4,5,0) be the
vertices of a AABC.Prove that AABC is

isosceles and right angled

o Watch Video Solution

42. Consider the points A (1,-1,3), B(2,-4,5) and

C(5,-13,11).Find AB, BC and AC

° Watch Video Solution



https://dl.doubtnut.com/l/_FP0uWJwUmfqi
https://dl.doubtnut.com/l/_mf1SLBQFh8GS

43. Consider the points A (1,-1,3), B(2,-4,5) and

C(5,-13,11).Prove that A,B,C are collinear

° Watch Video Solution

44, Consider the points A(1,2,8), B(0,3,4), C
(1,1,3) and D(2,0,7)

Find the mid points of AC and BD

° Watch Video Solution



https://dl.doubtnut.com/l/_nQkMKfr4i7Px
https://dl.doubtnut.com/l/_h9Ke98fthZG1

45. Consider the points A(1,2,8), B(0,3,4), C
(1,1,3) and D(2,0,7)

Prove that ABCD is a parallelogram

o Watch Video Solution

46. Consider the points A(1,-1,1), B(5,-5/4),
C(5,0,8) and D(1,4,5)

Find AB,BC,CD and DA

o Watch Video Solution



https://dl.doubtnut.com/l/_VQJhrIzJS5lL
https://dl.doubtnut.com/l/_H4PFf5p50wK2
https://dl.doubtnut.com/l/_QX26JThtJBBz

47. Consider the points A(1,-11), B(5,-5,4),
C(5,0,8) and D(1,4,5) Prove that ABCD is a

rhombus

o Watch Video Solution

48. Consider the points A(-5,6,8),
B(1,8,11),C(4,2,9) and D(-2,0,6). Find the mid
points of AC and the mid point of BD and

prove that ABCD is a parallelogram

° Watch Video Solution



https://dl.doubtnut.com/l/_QX26JThtJBBz
https://dl.doubtnut.com/l/_LDYfL1yBjnkv

49. Consider the points A(-5,6,8),
B(1,8,11),C(4,2,9) and D(-2,0,6)
Find AC and BD and prove that ABCD is a

square also

° Watch Video Solution

50. Let A (2,3,5), B(-1,5,-1) and C(4,-3,2) be the
vertices of a AABC

Find the sides AB,BC and AC

° Watch Video Solution



https://dl.doubtnut.com/l/_7q0PaPm4bxWN
https://dl.doubtnut.com/l/_fyE7CIT3axjE

51. Let A (2,3,5), B(-1,5,-1) and C(4,-3,2) be the

vertices of a AABC

Prove that the area of AABC’z's4—29

° Watch Video Solution

52. Consider the points A(2,-3,0) and B (-1,1,c)

Find the distance between A and B

o Watch Video Solution



https://dl.doubtnut.com/l/_fyE7CIT3axjE
https://dl.doubtnut.com/l/_gPf22yvCG1R8
https://dl.doubtnut.com/l/_tXQuY6jsAJaP
https://dl.doubtnut.com/l/_AznC9YJs3eI5

53. Consider the points A(2,-3,0) and B (-1,1,c)

If the distance is 13 units, find the values of ¢

° Watch Video Solution

54. Consider the point A(3,2,-4) and B (9,8,-10)
Find the co-ordinates of the points which

divides AB internally in the ratio 1:2

° Watch Video Solution



https://dl.doubtnut.com/l/_AznC9YJs3eI5
https://dl.doubtnut.com/l/_UbDdyCt7JYj2

55. Consider the point A(3,2,-4) and B (9,8,-10)
Find the co-ordinates of the points which

divides AB internally in the ratio 2:3

o Watch Video Solution

56. suppose that the mid point of the sides
BC,CA and AB of a triangle AABC are (5,7,11),
(0,8,5) and (2,3,-1)

If the vertices of the triangle are

A(wla Y, zl)? B($2, Y2, ZZ) and 0(333, Y3, 23)


https://dl.doubtnut.com/l/_7mPdRVn7LF38
https://dl.doubtnut.com/l/_gjN7yiDB5DHT

derive nine equations in

L1y, L2, L3y Y1, Y2, Y3, 215 22, and z3

° Watch Video Solution

57. Suppose that the midpoints of the sides
BC,CA and AB of a triangle ABC are (5,7,11),
(0,8,5), and (2,3,-1).

Find the co-ordinates of AB and C.

o Watch Video Solution



https://dl.doubtnut.com/l/_gjN7yiDB5DHT
https://dl.doubtnut.com/l/_Dxc3Jrox2gkr

58. Given the vertices A(2,-14), B(3,2,-6) and
C(-5,0,2) of a triangle ABC

Find the mid point of BC

o Watch Video Solution

59. Given the vertices A(2,-14), B(3,2,-6) and
C(-5,0,2) of a triangle ABC
Find the length of the median drawn from the

vertex A

° Watch Video Solution



https://dl.doubtnut.com/l/_WxW7G3ryoe33
https://dl.doubtnut.com/l/_siNIrUAcj8gC

60. Given the points P(1,-13), Q(2,-4,5) and
R(5,-13,11)

Prove that P,Q,R are collinear

° Watch Video Solution

61. Given the points P(1,-1,3), Q(2,-4,5) and
R(5,-13,11)

Find the ratio in which Q divides PR

° Watch Video Solution



https://dl.doubtnut.com/l/_siNIrUAcj8gC
https://dl.doubtnut.com/l/_hP93RktLakVZ
https://dl.doubtnut.com/l/_qXfcuyswEd11

62. The vertices of a parallelogram ABCD are
A(3,-1,2), B(1,2,-4) and C(-1,1,2). Find the 4th

vertex.

o Watch Video Solution

63. Find the lengths of the medians of the
triangle with vertices A(0,0,6), B(0,4,0) and

C(6,0,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_3IH4zXa5x2yS
https://dl.doubtnut.com/l/_xgqSlgPZwOEM
https://dl.doubtnut.com/l/_N86rruquenTP

64. If the origin is the centroid of the triangle
POR with vertices P(2a,2,6), O(-4,3b,-10) and

R(8,14,2¢c) then find the values of a,b and ¢

o Watch Video Solution

65. Find the co-ordinates of a point on y-axis
which are at a distance of 51/2 from the point

P(3’_2’5)

o Watch Video Solution



https://dl.doubtnut.com/l/_N86rruquenTP
https://dl.doubtnut.com/l/_WrCc8MpCyx1p
https://dl.doubtnut.com/l/_YYz8hA4RzuW7

66. A point R with x-coordinate 4 lies on the
line segment joining the points P(2,-3,4) and

Q(8,0,10) find the co-ordinates of R.

o Watch Video Solution

67. If A and B are the points (3,4,5) and (-1,3,7)
respectively, find the equation of the set of
points P such that PA% + PB* = k? where k

Is a constant.

° Watch Video Solution



https://dl.doubtnut.com/l/_YYz8hA4RzuW7
https://dl.doubtnut.com/l/_ePCKpdmcWgIk




